KOLAR Document ID: 1458923

Notice: Fill out COMPLETELY and return to Conservation Division at the address below within 60 days from plugging date.

Kansas Corporation Commission Oil & Gas Conservation Division

WELL PLUGGING RECORD K.A.R. 82-3-117

Form CP-4
March 2009
Type or Print on this Form
Form must be Signed
All blanks must be Filled

OPERATOR: License #:			API No	o. 15 -			
Name:			Spot Description:				
Address 1:				Sec]			
				Feet from			
City:	State:	Zip:+		Feet from			
Contact Person:			Footag				
Phone: ()				NE NW	SE SW		
Type of Well: (Check one) Oil Well Gas Well OG D&A Cathodic Water Supply Well Other: SWD Permit #:				County: Well #:			
ENHR Permit #:	Gas St	orage Permit #:	Date V	Date Well Completed:			
Is ACO-1 filed? Yes	No If not, is we	ell log attached? Yes	No The pl	The plugging proposal was approved on: (Date)			
Producing Formation(s): List	•	,	I *	by:(KCC District Agent's Name)			
Depth t	•	om: T.D	Pluggii	Plugging Commenced:			
Depth t	•	om: T.D	Pluggii	ng Completed:			
Depth t	o Top: Bott	om: T.D					
Show depth and thickness of	all water, oil and gas forn	nations.					
Oil, Gas or Wate	er Records		Casing Record (S	ing Record (Surface, Conductor & Production)			
Formation	Content	Casing	Size	Setting Depth	Pulled Out		
	. 0	ged, indicating where the muc of same depth placed from (bo	•		ods used in introducing it into the hole. If		
Plugging Contractor License #:			Name:				
Address 1:			Address 2:				
City:			State: _		Zip:+		
Phone: ()							
Name of Party Responsible for	or Plugging Fees:						
State of	County,		, ss.				
(Print Nama)				Employee of Operator or	Operator on above-described well,		

being first duly sworn on oath, says: That I have knowledge of the facts statements, and matters herein contained, and the log of the above-described well is as filed, and the same are true and correct, so help me God.



Remit To: Hurricane Services, Inc.

250 N. Water, Suite 200 Wichita, KS 67202 316-303-9515

Customer:

PIQUA PETRO, INC. 1331 XYLAND RD PIQUA, KS 66761 Invoice Date:

Invoice #: Lease Name:

> Well#: County:

Job Number:

4/17/2019

0341359 Bellinger 2-6

Geary ICT1942

	טט ואעוווט	IC 1 1942		
Date/Description -	HRS/QTY	Rate	Total	
Plug to abandon	0.000	0.000	0.00	
Cement pump	1.000	637.500	637.50	
Heavy Eq Mileage	86.000	3.400	292.40	
Light Eq Mileage	86.000	1.700	146.20	
Ton Mileage-Minimum	1.000	255.000	255.00	
H-Plug	60.000	11.050	663.00	
Vac truck 80bbl 111	6.000	90.000	540.00	
Vac truck 80bbl Dirty	7.500	100.000	750.00	
Salt water disposal fee	60.000	0.400	24.00	

 Net Invoice
 3,308.10

 Sales Tax:
 227.09

 Total
 3,535.19

TERMS: Net 30 days. Interest may be charged on past due invoice at rate of 1 ½% per month or maximum allowed by applicable state or federal laws. HSI has right to revoke any discounts applied in arriving at net invoice price if invoice is past due. If revoked, full invoice price without discount plus additional sales tax, as applicable, is due immediately and subject to interest charges. Customer agrees to pay all collection costs directly or indirectly incurred by HSI in the event HSI engages a third party to pursue collection of past due invoice.

SALES TAX: Services performed on oil, gas and water wells in Kansas are subject to sales tax, with certain exceptions. HSI relies on the well information provided by the customer in identifying whether the services performed on wells qualify for exemption.



Remit To: Hurricane Services, Inc.

250 N. Water, Suite 200 Wichita, KS 67202 316-303-9515

Customer:

PIQUA PETRO, INC. 1331 XYLAND RD **PIQUA, KS 66761**

Invoice Date:

4/17/2019

Invoice #: Lease Name: 0341392

Well#: County: Bellinger 2-6

Job Number:

Geary E0321

Date/Description	HRS/QTY	Rate	Total
4/16 E0321 Rig 7-Plug job	4.750	170.000	807.50
Wash gas	5.000	4.000	20.00
4/17 E0322 Rig 7	8.000	170.000	1,360.00
Power tongs	1.000	40.000	40.00

Net Invoice 2,227.50 Sales Tax: 172.63 2,400,13 Total

TERMS: Net 30 days. Interest may be charged on past due invoice at rate of 1 ½% per month or maximum allowed by applicable state or federal laws. HSI has right to revoke any discounts applied in arriving at net invoice price if invoice is past due. If revoked, full invoice price without discount plus additional sales tax, as applicable, is due immediately and subject to interest charges. Customer agrees to pay all collection costs directly or indirectly incurred by HSI in the event HSI engages a third party to pursue collection of past due invoice. SALES TAX: Services performed on oil, gas and water wells in Kansas are subject to sales tax, with certain exceptions. HSI relies on the well information provided by the customer in identifying whether the services performed on wells qualify for exemption.



HURRICANE SERVICES INC Well Services Division

Rg# 707	<u>_</u> a	mpany	Piece feire	Time Out 9:4	Tichera E0322	
Operator Jer	CO Le		elian	Time On		
Floorhend Cra			2-06 N			
Roothend To I		_	ESI GOVY			
		_~	DI GOGT	Time in _4:0	ORig Rate # 17 # -	
				Total Hours	_8_	
		Jub 91	Ady Andysis - A Steamen	o of Hazzardo & Statisty Properties		
Syche	5 5		• • •	Commence		
7	1	سايشه د		Chapme Paren	Collinson Styre & Program	
Contract Con	period and the second	7	Contraction of the Special and the	De Proposition	Control Parellinetes Landson	
Daniel Property		سنة ليسك مستواط		Cyclination	Charlings oppositions and before	
				CO-subject Factories	the same of the sa	
	Pulled Out				Run in	
Polish Rod				Pullsh Red		
Polish Red Liner			Type	Polish Rad Liner		
Rod Subs	2 5		10	Flod Subs	*	
Rods (City & Size)					Z 4 6 8 10	
Pump Data				Rods (City & Size)		
Tubing Subs	2 4 6		10"	Pump Date		
Tubing (Cyt & Size)			N	Tubing Subs	2/10/30 0 10	
Stat Nipple/Berral				Tubing (Cyt & Size)	55 Joins 234	
Anchor/Packer				Seat Nipple/Barrel	5,, 11,	
				Anchor/Packer	12 X224 mendader	
Mad Anchor@uli Plug Job Type: Tubb	ng Look D	6-46		Mud Anchor/Bull Plug		
100	A COME II	Red F	Will Pun	Charge [] W	forkover [] Completion[]	
			Additions	i Charges	8 Plus well	
Gas	Diesel		Of Sever Rubbers (ob)		Per Clara	
Sweb Cups (Size an	d Style)					
Sweb Curs (Size and Shee)						
Fishing Tool Cl. Seed Surv. Cl. Controlly						
Extre Equipment Toring Y						
				1		
Remerks: D.T.L	Held 44	ky M	ection with		Ru to Showel	
Hartal old w		orn of	ged then	A A la core	the to show up	
aux. Inle		0 L	elled of work			
all be (Aug I	7			ed the fast out Topped	
		F-7/-	BOWN DIO	u home.		
					XX 1 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
	-					
A TOTAL STATE OF THE PROPERTY OF THE PARTY O	*************************************			77		
				1 20 Comla	16)	
po of ill extense cannot explanat and properly, while tell is an bondam partnering curving. Any teas of explanant described from partners of the content of the partners of the content of						
			personal solidies has p		to properly the services.	
Authorner Representative				Thursday Acres		
			P	13-MA (G.)	your continued business!	